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1.

HISTORY
Paper — 11
Note : This paper contains fifty (50) objective type questions of two (2) marks each. All

questions are compulsory.

Flake tools of Levallois technique is
the characteristic feature of which
area of the following geological ages ?
(A) Lower Pleistocene

(B) Holocene

(C) Upper Pleistocene

(D) Middle Pleistocene

Match List — I with List — Il and
select the correct answer from the
codes below :
List -1 List—11

a. Sohagighat 1. Kashmir Neolith
b. Balathal 2. V.S. Wakankar
c. Bhimbetka 3. Ahar Culture Site
d. Burzahom 4. A.C.L. Carlleyle
Codes :

a b Cc d
(A 3 4 1 2
B) 4 3 2 1
© 1 2 4 3
D 2 1 3 4

Which one of the following situated
in the North-East Afghanistan is a
Harappan trading port ?

(A) Sutkagen Dor (B) Mundigak
(C) Shoturgai (D) Nausharo

Which one of the following Buddhist
texts mentions five hundred wives of
Bimbisara ?

(A) Mahavamsa (B) Mahavagga
(C) Dipavamsa (D) Mahavastu

Which of the below mentioned Indo-
Greek rulers issued coins bearing the
figures of Krishna and Balarama ?
(A) Menander

(B) Adgathocles

(C) Heliocles

(D) Archebius

Paper-11

6.

10.

Point out which one of the following
sites associated with the Nagas had a
shrine dedicated to Dadhikarna, the
lord of the Nagas
(A) Padmavati
(C) Mathura

(B) Kantipuri
(D) Rajagriha

Which one of the following Puranas
replaces the Buddha with Krishna in
the list of the Avataras of Vishnu ?
(A) Matsya Purana

(B) Bhagavata Purana

(C) Vayu Purana

(D) Kurma Purana

The earliest Lingodbhavamurti of
Siva has been found at which one of
the below mentioned sites ?

(A) Kanchi (B) Bhojpur
(C) Gudimallam (D) Khoh

Which one of the below mentioned
South Indian temples has wall-paintings ?

(A) Kailashnath temple at
Kanchipuram
(B) Virupaksha temple at

Pattadakal
(C) Vijayalaya Cholishwara temple
at Narttamalai
(D) Koranganatha
Srinivasanallur

temple at

Arrange the Pala kings listed below
in chronological order and select the
correct answer from the codes given
below :
List :
(i) Rajyapala
(i)  Narayanapala
(ili) Devapala
(iv) Gopala
Codes :
(A) (i) () (Gv) (iii)
(B) (i) @) () (v)
(©) (v) (i) (i) ()
(D) (@) (v) (i) (i)
D-06-13



HORG]

g — ||
et : =0 voE H v (50) S-foshed U € | Uish WY & & (2) 37 € | |t TR Sie € |

1. wEcEl Fe R SR T %o
SRRl TreifRa fhm gmifa g
oo & 2
(A) = wired
(B) @i
(C) 3=a Wi
(D) " wWiREEH

2. E-l #® gE-ll ¥ gafea s i
1 P2 T W& 3T A 999 BT

= - | =it - 1

a. QerEe 1. HYHR SEuToT
b. aMIA 2. IUTH. AHIE
c. ¥WHeRH 3. 3ITETS TR A
d. TEE 4. THTA. FHaAd
FT :

a b ¢ d
A 3 4 1 2
B 4 3 2 1
© 1 2 4 3
@) 2 1 3 4

3. SWUE EMHEE fed feited wme
G TR T §U AN T<E T ?
(A) gFeHER (B) gvems
(C) wigtE (D) Hrewt

4, TyATAREd ®F A1 dig 09 iR % o
Tt afeTal T Sooid T § 2
(A) weEd (B) w@rermT
(C) dm=g (D) weraE]

5. fifed fee feg-gamt o 3 faes
S T 59 W FOr td geRm @
3Tt o off 2
(A) FFFeT (B) MRS
(C) e (D) SThie=d
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10.

I 9 Geryg e e we W
ATRIST Teeh0T ST HiGY Ferd o ?

(A) T=TET (B) wIf=gdr
(C) =g (D) TSR
f=ifhd w®oT ¥ ThEH fawp &
FEART ! Gl H TF o T T FIT H
TR fopar € 2
(A) T qOuT
(C) =g qur

(B) HETAT 907
(D) H T

fr=iteRd v @ ¥ forg & wEw=
feTigyadfd T g € ?

(A) i (B) IR

(C) Tiewwe™ (D) @&

e fhe 30T YR\ |
Tfa-ferr Suerey € 2

(A) TG T HEARME HGT

(B) Uz I formuey HikT

(C) AT I fosTTerT Tieiivar HisT

(D) sifaTEReeR &1 SR HieT

frefetaa arer st @t

ford wa i3t T e W W W SR A

=

(i) o

(i) AR

(i) SemTer

(iv) T

ETE

(A) (i) (1) (v) (i)

(B) (i) (i) () (iv)

(€ (v) (i) (i) (i)

(D) (@) (v) (i) (i)
Paper-I1




11.

12.

13.

Match List — | with List — Il and
select the correct answer from the
codes given below :

List—1 List— 11
(Works on (Authors)
Medicine)

a. Bhanumati 1. Chakra-
panidatta
b. Shalihotra 2. Vangasena
c. Vriksha- 3. Bhoja
yurveda
d. Chikitsasara- 4. Sureshvara
samgraha
Codes :
a b c d
A 4 1 2 3
B) 3 2 1 4
Cc 2 4 3 1
o 1 3 4 2
Match List — I with List — Il and

select the correct answer from the
codes given below :

List— 1| List— 11

(Kings) (Dynasty)
a. Udayanjeral 1. Pandya
b. Karikala 2. Chola
c. Nediyon 3. Pallava
d. Simhavisnu 4. Chera
Codes :

a b c d

A 4 2 1 3
B 3 4 2 1
© 1 3 4 2
o 2 1 3 4
Match List — I with List — Il and

select the correct answer from the
codes given below :

List— 1| List—11
(Authors) (Works on Law)
a. Jimutavahana 1. Manutika
b. Govindaraja 2. Smriti-
chandrika

c. Vijnanesvara 3. Dayabhaga

d. Devannabhatta 4. Mitakshara
Codes :
a b c d
(A 4 2 1 3
B) 1 3 2 4
) 3 1 4 2
(D) 2 4 3 1

Paper-11
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16.

Match List — | with List — Il and
select the correct answer from the
codes given below :

List— 1 List—11I
(Temple Style) (Name of
Temple)
a. Nagara 1. Temple at
Paharpur
b. Dravida 2. Jain temple at
Lakkudi
c. Chalukyan 3. Nilkantha
Mahadev  at
Saunak
d. Exotic 4. Kailashnath
at Ellora
Codes :
a b c d
A 2 3 1 4
B 3 4 2 1
© 4 1 3 2
o 1 2 4 3

Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R) :

Assertion (A) : Ancient Indian Art
styles during the post-Gupta
period are named as per
dynasties ruling over a
particular region.

Reason (R) : Rules of the post-
Gupta dynasties were the sole
patronisers of Art.

Read the above statements and select

the correct answer from the codes

given below :

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A) istrue, but (R) is false.

(D) (A) is false, but (R) is true.

According to Al-Beruni, the antyajas

were

(A) Hadi, Dom and Chandala caste
of people

(B) Prostitutes

(C) Eight guilds of people below
the Sudras

(D) Foreigners

D-06-13



11. g=-| = gei-1l § gafed sisa 8] 14. G-I =t gai-11 9 gafea s i
1 e ¥ TEl 3T & T51 HiH 1 e ¥ Tl 3T H =I5 I
et - | =t - 1 =t - | =it - 1
(Fafereamemehia o) () GIELRIC] (vife¥ =1 )
a. WA 1. =BhUIURS a. AR 1. vereq ferd Hfex
b. emferer 2. dmm b. sfag 2. oRpet ferd s
C. FeIIR 3. o AT
d. framrErE 4. QO c. I 3. T H AIHUS
HT HeETRe HieT
a b ¢ d d. oo 4. TR F heRETe
A 4 1 2 3 HfeT
B 3 2 1 4 _—
© 2 4 3 1 " a4 b ¢ d
o 1 3 4 2 A 2 3 1 4
B 3 4 2 1
12. FE-l B FgE-ll § gAfea s $R EC; 4 1 3 2
1 e ¥ TEl W & TIH i ® 1 2 4 3
= - | = - 11
(XT) (TTer) 15. i I aoea fed T € TH B
a. IR 1. Uved (A\) TET ST & 3T TE S BRT (R)
b. FREA 2. =A AWHYT (A) © AR A U=
c. At 3. oo RAT Foll Aferdi & ATTRT
d. ffowy 4. = g-foe § o9 W W@ e &
% A T TN € |
a b ¢ d FROT(R) AR Hlel= Joias
A 4 2 1 3 % I & ol o THITT GRETH
(B) 3 4 2 1 |
€ 1 3 4 2 SIS q1 gl & ey B ffaiad
© 2 1 3 4 5 W P
13. gl F G-Il ¥ g AR el ®e: s
g@ﬁgsm HT T DT (A) (A) 3R (R) 3FT Tt & 7 (A)
aeh | T - 11 ! Fl T (R) & |
(a-@a;) (ﬁfﬂ%ﬂﬁaﬂt’rﬂ) (B) (A) 3R (R) Tl Wl &, fehy (A)
2 ST 1 o 1 TEl e (R) Tél ¢ |
b. e 2. e ©) (Aywer e Fmg (R) e &
c. fomrvar 3. MM (D) (A)Trer &, for (R) W |
d. sgwoME 4. TR R
_— 16. 3TA-S&A & AR, 3Tt & —
T4 b ¢ d (A) TR, T AR TS AT & AT
A 4 2 1 3 (B) v ,
B 1 3 2 4 (C) IE & oft =1 @ & 37 feredt
C© 3 1 4 2 Bel
D 2 4 3 1 (D) fassi
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17.

18.

19.

The Ilbari ruler who introduced
Sijada, Paibos and Nauroz to the
Delhi Sultanate was

(A) Qutabuddin Aibek

(B) Itutmish

(C) Balban

(D) Bahram Shah

Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R) :

Assertion (A) : The Turks did not
use Hindu style of representing
human and animal figures on
the buildings.

Reason (R) : They used
geometrical and floral designs
and panels of inscriptions
containing verses from Quran.

Read the above statements and select

the correct answer from the codes

given below :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A) istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Match List — I with List — Il and
select the correct answer from the
codes given below :

List -1 List—11
(Literary (Authors)
works)

a. Adab ul 1. Ata Malik
Harb wa al Juwaini
Shujat

b. Tabagat-i- 2. Ziauddin
Nasiri Barani

c. Tarikh-i- 3. Minhaj Siraj
Jahan Gusha

d. Tarikh-1 4, Fakhr-i-
Firuz Shahi Mudabbir

Codes :

a b c d
A 3 4 2 1
(B) 4 3 1 2
C) 4 2 1 3
(D) 2 1 4 3

Paper-11

20.

21.

22.

Match the List — | with List — Il and
select the correct answer from the
codes given below :

List—1 List—11
a. Igta-i- 1. A confidential
Tamlik meeting of king
and high
officials
b. Majlis-i- 2. Short term
Khalwat governorship
c. Mahsul 3. Gross income of
the province
d. Igta-i- 4. Hereditary Igta
Istighal
Codes :
a b c d
A 2 4 3 1
B 4 1 3 2
<c 4 1 2 3
by 2 3 4 1
Shiggdar was

(A) the head of village patwaris

(B) the military officer at the
pargana level

(C) the treasurer of the pargana

(D) looking after the trade activities

Given below are two statements, one

labelled as Assertion (A) and the

other labelled as Reason (R) :

Assertion (A) : The Bhakti
Movement of medieval period
succeeded in bringing into the
fold of Hinduism many adherents
of Buddhism and Jainism.

Reason (R) : As a process of
cultural  assimilation  many
tribals were Hinduized by
fitting themselves into the caste
system.

Read the above statements and select

the correct answer from the codes

given below :

Codes :

(A) Both (A) and (R) are true and (R)
Is the correct explanation of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

D-06-13



17.

18.

19.

T I e feoet! Heaqd | fasm,
T 3T 7RIS TR HLaT, J8 o —
(A) FIFEATF  (B) weme

(C) dweted (D) EHSIE

e 3t g f5F W €, T w R (A)

R T & R T B FHROT (R)

e (A) D g A et WY
e & FER AHEE TE U
SMPITAT Bl 3ifehed L Bl TERT
T STTEOT Tal foaT |

HRUT (R) 3B I ud
(OFel) T FIH H STl h
3ifeRd T |

ST &1 gl & WSy | Eterad

% H H DI T T & ?

E 4

(A) (A) 37 (R) 3HT T &, 7o (A)
&l = (R) § |

(B) (A) 3R (R) &Hi FI%“I g o (A)
i el = (R) Te € |

(C) (A) W, fovg (R) ToId € |

(D) (A) e &, fob] (R) T & |

gd-l ® gdl-ll ¥ gafea ®ie R
91 Pz T TET 3T &1 957 B
el - | Tt - 11
GUREXSE ()
a. 3T 3 1. T Afctsh
T A1 A YEIT S
b. dEeM-T AT 2. SEEEs s
c. dl@-uSErEn 3. Tt et
d. aRE-T 4. HE-T ER
RSN

T4

(=N

(A)
(B)
(®)
(D)

N MNP W
PN WO
AR, EPDNO
W WN P
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21.

22.

Al & G-Il gAfera wIET 3R

TS $ H el ST BT T5 T ;
=t - | T=h - I
& gF-U-ATels 1. ST SR 3=
EeCatoiica
ElERIEEECED
b. mefergt. 2. o
Tetad HSTRRI
C. Hege 3. U W A

AT
d. sorusRTer 4. S ST
C YA

(=N

a b Cc d
A 2 4 3 1
(B) 4 1 3 2
C) 4 1 2 3
D) 2 3 4 1
TOTRRRI T —

(A) UM YAl S g

(B) U TR I A= TR

(C) U T Gttt

(D) SR TATATeET bl SEHTeT B
e

e 3 AT 53 U §, U W (A)

3 T I HROT (R) el T &

FHU (A) ;. TEAHCA oferT
MR g X SA9d & A
el i fEg o F S ° T
&l |

HROT (R) : Qi TR
URHAT B ST % 3T ol &g
STife-ven § afterd & e |

ST FUA & W W =ifhd # #

FF T FE § 2 A W A fqT T

FH Y G

R.

(A) (A) 3R (R) 3H ¥ & 3R (R),
(A) F TEl =T ¥ |

(B) (A) ¥R (R) Tl & &, W (R),
(A) ®l el AT |

(C) (A) W& R (R) @A E |

(D) (A) WA T, R (R) T T |
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23.

24,

25.

26.

Shaikh Nuruddin was the founder of the

(A) Rishi Silsilah of Sufis in
Kashmir

(B) Chishti Silsilan of Sufis in
Ajmer

(C) Firdausi Silsilah of Sufis in
Bihar

(D) Suhrawardi Silsilah of Sufis in
Multan

Considering the relationship between
ulema and the ruler during the
Sultanate period which one of the
following statements is correct ?

(A) The ulema derived authority
from the shariat.

(B) The ulema did not allow the
Sultan to interpret the Divine
Word.

(C) The wulema could not be
dispensed with by the Sultan at
will.

(D) None of the above

Identify the foreign traveller who
gives an account of the Bahamani
Kingdom

(A) Ralph Fitch

(B) Nicolo Conti

(C) A. Nikitin

(D) F. Nuniz

‘Mawarun nahr’ was the Arabic term
for the Central Asian region of

(A) Farghana
(B) Khurasan
(C) Khwarizm
(D) Transoxiana

Paper-11

27.

28.

29.

30.

Concerning Humayun which of the

following is correct ?

(A) Humayun was very fond of
astronomy and geography.

(B) Humayun collected a large
number of books for the
imperial library.

(C) Humayun during his military
campaigns used to take some
selected books for his use.

(D) All of the above

Din-i-llahi was primarily

(A) the official religion of state.

(B) a synthesis of Hinduism and
Islam.

(C) the reiteration of the principle
of universal harmony.

(D) a superior religion for the
masses.

What was the percentage of rural
population of India, as per the
poPuIar estimate, during the 16" and
17" centuries ?

(A) Around 55%

(B) Around 65%

(C) Around 75%

(D) Around 85%

Consider the following statements in

respect of Rathor rebellion :

(i)  The Rathor rebellion broke out
following the death of Prithvi
Singh, son of Jaswant Singh.

(i) Aurangzeb installed Indra
Singh as the ruler of Marwar.

(iti) The rebellion broke out
following Aurangzeb’s plan to
make Jodhpur a part of the
Mughal Empire.

(iv) Rani Hadi was supported by
the Rathors and Rana Raj

Singh of Mewar in the
rebellion.
Which of above statement(s) is/are
correct ?
(A) (i) only (B) (i) & (iii)
(C) (i) &(@v) (D) (i) &(iv)
D-06-13



23.

24,

25.

26.

I TEEI TG B o

(A) HHR T GiwaT & Y fgataget &t |

(B) TR W YiwAl o fawdl fawfaet =t |

(C) feer & giwal & frrd foeifact
|

(D) Hord™ H QRdt o Gedas! faeraet
ol

o Bl § ST 3R gorde & e

T & 95y H EfetEd § 9 S 9

FH TE T 2

(A) 3T BT ARAT F HATIBRT Bl T
It ot |

(B) 3T 7 JoidH & & V& B
ST X i ST el &7 |

(C) 3o H FoaH 0 TEIHAR
BIE F&T TehaTl T |

(D) SWded § 9 T &l |

39 foRst anl # TeuH wiee e

TETT TTHTSS T Jad K1 ¢ :
(A) Tow T

(B) fepient =t

(C) T Mfefaa

(D) TE. T

e URTET & i AT & SR 9T H

A& A8 shgaAlar a1 ?

(A) HTE
(B) @A
(C) |
(D) ZraeniaarT

X
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27.

28.

29.

30.

frfafed § ¥ gl & Ty | %F 91

FH TE T 2

(A) T H @A I TH P H
Tt feeraedt of |

(B) ¥ A VRl JHOE & oW
TETRT T TR R fRAT |

(C) TIH o= ¥ MEMl & SR
" % U TT T gE [ A
ST Rl 9T |

(D) ST Tt |

TR T T T —
(A) T = TTHE o
(B) &3 e eI Setry BT [T

(C) fova TRy & fagT= 1 T

(D) it = v S o A

T 3o & STER 163 aor 1 7dt
ITATSET H 9RA T UTHIOT STHEET 61
TFcTeTe ot ?

(A) T 55%

(B) T 65%

(C) T 75%

(D) T 85%

R fagie ¥ wmatua Hefetad st

W forar it

(i) Swa< e & @ geifde & e
% HeRaEY R faxiE g1 |

(i) °NE 3 T5¥e H ARaE #H
I & 1T |

(iii) WR fosie T H SR A
T A & &l F W ®
AT o HoRa@y gl |

(iv) T BTel i fomie § TERi ud Herg
% Y07 AR A e T o |

ST FET H I i AT T ?

(A) = (i)

B) (i) 3 (i)

©) (i) @ (iv)

(D) (i) 3R (iv)
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31.

32.

33.

Arrange the following in
chronological order and select the
correct answer from the codes given
below :

(i) The Policy of Ring Fence
(i)  The Policy of Equal Federation

(ili) The Policy of Subordinate
Union

(iv) The Policy of Subordinate
Isolation

Codes :

(A) (@) (v) (i) (i)
(B) (@) (i) (i) (iv)
(C) (i) (i) (v) (i)
(D) (v) (i) (i) (i)

English East India Company lost the
monopoly of Chinese trade by

(A) The Charter Act of 1813
(B) The Charter Act of 1833
(C) The Charter Act of 1853
(D) The Charter Act of 1893

Which of the following statements is

incorrect ?

(A) Amrita Bazar Patrika was
originally a Bengali paper.

(B) Samachar Darpan, the
Vernacular  newspaper was
started during the period of
Warren Hastings.

(C) Bombay Times became the
Times of India.

(D) The Bengal Gazette, the
Weekly  Newspaper,  was
started by James Augustus
Hickey.
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34.

35.

Match the List — | with List — Il and
select the correct answer from the
codes given below :

List—1 List— 11
a. Treaty of 1. 1769
Allahabad
b. Treaty of 2. 1765
Madras
c. Treaty of 3. 1776
Purandar
d. Treaty of 4. 1784
Mangalore
Codes :
a b c d
A 2 3 4 1
(B) 3 4 1 2
< 2 1 3 4
D) 1 2 4 3

Given below are two statements, one
is labelled as Assertion (A), and the
other is labelled as Reason (R) :

Assertion (A) : The  process  of
transition to Colonialism was

underway over almost a
century 1757-1856.
Reason (R) : English East India

Company annexed all the
Indian territories directly under
its control.

Read the above statements and select

the correct answer from the codes

given below :

Codes :

(A) (A)is correct but (R) is false.

(B) (A) is incorrect but (R) is
correct.

(C) Both are correct and (R) is the
correct explanation of (A)

(D) Both are correct but (R) is not
the correct explanation of (A).

D-06-13



31.

32.

33.

At ot HIehA § TAET 3R A
U T 2t | TEl SR T 99T I

() S
(i) oo g
(iii)  arefirer @ A
(iv) mefiereer qrefer T

AN

& -

(A)
(B)
(©)
(D)

(i) (v) (i) (i)
() @) (i) ()
(i) (i) (@v) ()
(iv) (i) () (iii)

IS 3 Ifeq Hur 7 FEfefEd § 9
o efufaw & IRw =9 % =R W
TR @ fgar ?

(A) 1813 & =X AfufEm

(B) 1833 % X uaH

(C) 1853 = 41X AaFEH

(D) 1893 1 =X Affam

foifigd § 9 IFEr e Teld & ?

(A)

3T SR UEE Hord: T sett
TATIR-T T |

ST T GHRR-OT ‘A= 907
AR 2T & HEHA & SR &
o T on |

S T B AW B T A
fear & T |

ATfess THER-US, e 7T,
ST TR feah! 7 Y& foharr o |

(B)

(©)

(D)
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34.

35.

G-l B GE-ll & 9 gaferd S

R A T T el ¥ W I H T
HifeTT

= - | =it - 1
a. SRERE B AW 1. 1769
b. TE™ ®I WY 2. 1765
c. THEM 3. 1776
d. R w AT 4. 1784
HT:

a b c d
A 2 3 4 1
B 3 4 1 2
C 2 1 3 4
M 1 2 4 3

I T FE T ST W E W A

A (A) 3R W & aF (R) Fel

e

AfqHT (A) : SUHATETR S HehHT
Uik 1757-1856, ET Uk
ATt 9 Tt W Al |

R (R) e e gfea
FHIET F 3T THH &5 T sl H
forar s vegeraar s = |
o |

ST HUAT P UT X UET P

el I I TFT HIT |

&<

(A)

(B)

(©)

(A) T& &, == (R) T & |

(A) Tod &, = (R) W&T € |
(A) 3R (R) 3T Tl &, 31X (A)
i (R) TE AT |

(A) 3T (R) IHT Tel €, =] (A)
1 (R) W&t AT Tl & |
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36.

37.

The main reason for the peasants to

join the 1857 revolt was

(A) inordinately  high
demands.

(B) the revenue policies not only
uprooted the ordinary peasants
but also destroyed the gentry of
the country.

(C) the beneficiaries of the new
revenue policies were also not
satisfied.

(D) all the above

revenue

Match the List — | with List — Il and
select the correct answer from the
codes given below :

List—1 List— 11
a. Death of Sir 1. 1897
Syed Ahmad
Khan
b. Madanlal 2. 1898
Dhingra  shot
dead Curzon
Wyllie in
London
c. Chapekar 3. 1909
brothers
murdered the
cruel Plague
Commissioner
Rand and Lt.
Ayerst
d. Coronation 4. 1911

Durbar in honour
of George V held

at Delhi
Codes :
a b c d
A) 2 3 1 4
B 3 2 4 1
Cc 1 4 3 2
M 4 1 2 3

Paper-11
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38.

39.

40.

Given below are the two statements,

one is labelled as Assertion (A) and

the other is labelled as Reason (R) :

Assertion (A) : MaCaulay’s Law
Commission enacted in 1860s
marked an end to India seen as
a land of ‘oriental despotism’

Reason (R) : Equity and justice
were seen to be meted out in
place of what was imagined as
the despots ‘dark and solemn’
justice.

Read the above statements and select

the correct answer from the codes

given below :

Codes :

(A) (A) is correct but (R) is false.

(B) (A) is incorrect but (R) is
correct.

(C) Both are correct and (R) is the
correct explanation of (A)

(D) Both are correct but (R) is not
the correct explanation of (A).

Match the List — | with List — Il and
select the correct answer from the
codes given below :

List—1 List— 11
a. Behramji M. 1. Emancipa-
Malabari tion of
women
b. Dando Keshav 2. Kanyasulkam
Karve
c¢. Kandukuri 3. Parsi Social
Veeresalingam Reformer
d. Gurazada Appa 4. Widow
Rao Remarriage
Movement
Codes :
a b c d
A 3 1 4 2
s 1 4 2 3
C 4 2 3 1
o) 2 3 1 4

One of the following was not
associated with Justice Party :

(A) K.M. Patro

(B) Ramaswami Naikar

(C) Tanguturi Prakasam

(D) Raja Ram Rainingar

D-06-13



36. 1857 % fagie W U % AN T
& HRT AT —
(A) 3THER &Y 3= IR i AT |
(B) I~ ifq I FUR A & TRl
AU I F PoAA AT BT o
fommeT =62 f5=m |
(C) =< Tord Aifq & et off T
T |
(D) ST = |
37. Al & FA-I F G GAfAd DT
3R A U 7T Fel & TEl I 1 T
FIT
=i - | =it - 1
& WY AT @ A 1. 1897
79
b. meT ST ERT 2. 1898
T ot feretl ot Tl
AR &7
C. =TuehT T3t o /T T 3, 1909
IMgF TE AR .
3RSl &l Bt
d S v % 99E ¥ 4, 1911
fgoett o TSI
QUL HMENNA [ondl
T
%
a b c d
A) 2 3 1 4
B 3 2 4 1
© 1 4 3 2
O 4 1 2 3
D-06-13
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38.

39.

40.

T F oweE @ ST W E wem @

AfFeE (A) 3R TR H dF (R) Fal

TE |

Afiped (A) : Holel & fatg S
ST 1860 H Tied g, 39 WRA
% ‘E FRETAER w el %
foam =t fer fam |

FHRT (R) D A AR A #
TEeT SRl & ‘3 AR HAR
== & foeheq & w9 H @1 S|
T

ST HUAT P UGT X UET P

TET 3T 1 TF HIT |

E

(A) (A) T&l g, W (R) Toid ¢ |

(B) (A) o &, W= (R) W&T € |

(C) (A) 3R (R) I Wl &, 3R (A)
i (R) W& AAE |

(D) (A) 3R (R) SHi el &, ] (A)
1 (R) 9l AT &1 & |

-1 B -1 % A GAferd HifT 3w
eI e W Tel 3T T T4 BT
=i - | =t - 1
a. TEESTTA. 1. TR g
HTATER

b. el H¥@ HE 2. HARHFH
C. HUGHA 3. O™ gt
ot
d. TRRET SURE 4, fouEr Al
EIEpIE]
FT
a b c d
A 3 1 4 2
B 1 4 2 3
C 4 2 3 1
D) 2 3 1 4
frefafad # @9 Sieq 9t § Hetud
T a2
(A) . TH 9=
(B) YHRETH! AT
(C) T wehreTe
(D) ST | FHAR
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41.

42.

43.

44,

45.

What did the ruler of Nabha and Jind
offer Ranjit Singh as a token of
accepting his subordination ?

(A) Theirforts (B) Their territory
(C) Costly gifts (D) Their horses

Indicate the newspaper mentioned below
with which Gandhiji was not associated
(A) Indian Opinion
(B) Indian Mirror
(C) Harijan
(D) Young India
Match the List — | with List— 11 :
List—1 List— 11
(Princely State)  (Gun salutes
entitled by the

ruler)

a. Sangli 1. 17
b. Gwalior 2. 9
c. Dholpur 3. 15
d. Kutch 4, 21
Codes :

a b c d
A 3 4 2 1
(B) 4 2 1 3
< 1 3 4 2
(D) 2 4 3 1
Match List — | with List — Il and

select the correct answer from the
codes given below :

List—1 List— 11
a. Clement 1. August Offer
Attlee

b. Mountbatten 2. Breakdown plan

c. Lord 3. Cabinet Mission
Linlithgow
d. Wavell 4. Plan Balkan
Codes :
a b c d
A 3 4 2 1
B) 4 3 1 2
C 3 4 1 2
b 1 2 4 3
Which one of the following was the
most immediate problem India

confronted after independence ?

(A) Settlement of boundaries after
partition
(B) Division of Civil Service

personnel
(C) Division of military assets
(D) Communal and refugee problem

Paper-11

14

46.

471.

48.

49.

50.

Match List — | (Authors) with List —
Il (Books) and select the correct
answer from the codes given below :

List -1 List—11
a. Lucien 1. The Peasants of
Febvre the Languedoc
b. Max Bloch 2. The Historian’s
Craft
c. Emmanuel 3. The
L.R. Ladurie Mediterranean
d. Fernand 4. The Regions of
Braudel France : Franche
Comte
Codes :
a b c d
A 3 2 4 1
(B) 4 1 2 3
C) 4 2 1 3
D) 1 4 3 2
The “ldea of Progress” in

historiography relates to

(A) Romanticism

(B) Enlightenment

(C) Post modernism

(D) Dialectical materialism

The concept of ‘Total History’ is
associated with which one of the

following schools of historical
writing ?
(A) Marxist School

(B) Positivist School
(C) Annales School
(D) Subaltern School

The major determinant(s) of the
policy of non-alignment was/were
(A) Anti-racialism

(B) Anti-imperialism

(C) Both (A)and (B)

(D) None of the above

Who among the following is the
author of The Cold War and its
Origin ?

(A) Daniel Singer

(B) A.F.K. Organski

(C) D.F. Flaming

(D) G. lonescu
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41.

42.

43.

44,

45.

AN 3R STE o IMHHI = W0Ad 98 i
ST TR T ST & Udieh & &9 |
I 1 G o o ?

(A) 370 e (B) 310 T
(C) Wi swr (D) 3 =g

39 Ul & AW T O i e
T T et & 2

(A) 3fega it (B) e
(C) == (D) @ Efean

GAl-1 S gell-11 T GAfId DT
= - | = - 1

@ Rared) (@l wt qer o
AteHR)

17

9

15

21

a. Qe
b. TaTferaR
c. HieTgX
d =
HE

(=N

HowbdpE

(A)
(B)
(©)
(D)
A1 G-I § G HiT S e
P T el I B T5 HINTT
= - 1
. IR TR
. SHSA A

B CECALRE]
. A ok

NF,RWD
~OONPA~T
WhFENO
PNWEF, QO

NPAWRAT
AP EPNO
WNhNEF, QO

frefafad & @ o8 = 9 = gHen

off THT HHEAT YR I =T Wi &

T 1% AT TGl ?

(A) fousH & uvEd dHet @
LTI

(B) Taforet Qe shitHehT ol Taeasi=

(C) &= uiwt =t T

(D) TR UE IROMET qo

46.

47.

48.

49.

50.
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ALl (eREeh) H OG-l () o
Al FINTT 3R A ST 7T Fi & el
I A TG DT ;

= - 1

= - |
a. T Bl 1. T USie 3%
T ogEis

. T BRRE e
. T dfeH A

. TN ST

~~

w

N—r
PP
ANERPNT
wrkrNhO
NLwwWwER o

demoEd H “oma @ e
frfefaa 5 9 frad defa € 2

(A) FHEEE

(B) Wy

(C) STRIMYFHAAR

(D) FETH Hifeans

e e foramar 5 9 forad gefad
T2
(A)
(B)
(©)
(D) weAadr (TEsTeeH) foamemy
TefRue W AT wrE wE FuRe
/e

(A) TETET i oy

(B EELEEIRCHES

(C) (A) 3R (B) T

(D) SWded H § T el |

‘T Pieg IR UUE 29 SMRSH’ A
&I N @S HEArEd § d SE-ar
T2

(A) < T

(B) T UW. &, NI

(C) I U, wAfET

(D) ST, 3ME3iHeyg

< oo
RIESEISIRERIRCIN

TeAeTaTRT ToaRERT
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